Atomic Energy Central School No. 4 Rawatbhata
Class 07 - Mathematics

MM: 40 Periodic Test-1 (2019-20) Time: 1: 30 Hrs

General Instructions:

Note: All questions are compulsory.

Section A
1. Arrange in descending order : -2,-13,-8, 1 1
2. For any integer 'a’ what is (-1) x (a) equal to? 1
3. Expressinkg: 34709 1
4. What is the probability of sun setting tomorrow? 1
Section B
5. Subtract the first rational number from the second 2
a.3,-15 b.-8,-7
6. Calculate : 2
i.384.94 + 17.348 1. 260.65 — 40.9
7. Find the mode of the given data: 2
10,8,4,7,8,11,1,5,8,4,2,3,6,8
Section C

8. Use the distributive property of multiplication over addition to simplify (-5)(8+16).
9. The sum of two rational numbers is -8. If one of the number is -18, find the other number.

10. Write the following decimal numbers in the expanded form:

i. 2,066.228 ii. 4,127.757 iii. 7,410.809

11. The side of an equilateral triangle is 3.5 cm. Find its perimeter. 3

12. The performance of students in the Subject 15t term(M.M.100) 2nd term(M.M. 100)
1st term and 2nd term is given. Draw a English 67 70

double bar graph choosing appropriate

_ Hindi 72 65
scale and answer the following:
Maths 88 95
Science 81 85
S. Science 73 75

i. In which subject, has the child

improved his performance the most?

ii. In which subject is the improvement the least?




iii. Has the performance gone down in any subject?

13. The rainfall (in mm) in a city for7 days in a certain week was recorded as follows:

Day

Mon

Tue Wed | Thu

Fri Sat

Sun

Rainfall(in mm)

0.0

12.2 2.1

0.3

202 | 5.5

1.0

i. Find the range of rainfall in the above data.

ii. Find the mean rainfall for the week.

iii. On how many days was the rainfall less than the mean rainfall.

14. Ria and Khushi participated in lemon race. The race was conducted in 6 parts. In the first part, Ria won
by 10seconds. In the second part she lost by 1 minute, then won by 20seconds in the third part and lost by 25
seconds in the fourth part, she lost by 35 seconds in the fifth part and finally won by 12 seconds in the last
part. Who won the race finally?

15. Find the sum:

. .3 2
1.4(1—|—'£Zl5

PP 3

16. The table below gives the flavours of ice cream liked by children(boys and

girls) of a society.

Flavours |Vanilla |Chocolate |[Strawberry |Mango |Butterscotch
Boys 4 9 3 3 13
Girls 8 12 7 9 10

. Draw a double bar graph using an appropriate scale to represent the

following information.
i.  Which flavor is liked the most by the boys?
iii.  How many girls are there in all?
iv.  How many children like chocolate flavor of ice cream




Atomic Energy Central School No. 4 Rawatbhata
Class Q7 - Science
PERIODIC TEST-I (2019-20)

Maximum Marks: 40 Time Allowed: 1 hour and 30 minutes
Section A
1. Plants prepare their food by the process of 1
a) Transpiration b) All ofthese.
c)Photosynthesis d) Respiration

2. Cell-wall of plant cell is made up of cellulose. Which of the following is not
able to digest cellulose?

a) Human beings b) Deer
c)Cow d) Goat
3. Which of the following is the longest part of the digestive system?
a) Largeintestine b) Rectum
c) Oesophagus d) Small intestine
4. Which is not related to silk industry?
a) Apiculture b) Sericulture
c)Reeling d) Moriculture
5. Which of the following thermometer do not use mercury?
a) Laboratorythermometer b) Clinical thermometer
c) Digitalthermometer d) Fahrenheitthermometer
What are saprotrophs?

Why insectivorous plantseat insects?
What is the functionof Villi?

Why fleece scoured?

10. What is convection?
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Section B

11. Write the importance of Rhizobium bacteria for the farmers.

12. What are ruminants? How do they digest cellulose?

13. Howssilk thread is obtained from cocoon?

14. Why do we wear light coloured cotton clothes when it is hot?
Section C

15. Distinguish between a parasite and a saprotroph.

16. Write the function of the following in human stomach.

(a) Hydrochloric acid (b) Mucus (c) Digestive juices

17. Make sketchesofthetwo stagesinthe life history ofthe silk mothwhichare
directly related to the production of silk.
18. Differentiate between clinical and laboratory thermometer?
Section D
19. Describe digestion of food in amoeba with the help of labeled diagram.
20. Howdoesthe heattravel inair? Explainthe seabreeze and land breeze in
coastal areas in this reference.
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Atomic Energy Central School No. 4 Rawatbhata
Class 07 - Social Science
Periodic Test - | (2019-20)
Maximum Marks: 40 Time Allowed: 1 hour and 30 minutes

General Instructions:
Note: All questions are compulsory.

Section A

1. Duringthe period 700to 1750 new technologies made their appearance 1
a) firearms incombat b) Persian wheel in irrigation
¢) spinning wheel in weaving d) All of these

2. Two schools of islam are 1
a) Hanafi and Shafi b) Hanafi and Sunni
c) Hanafi and Shia d) Hanafi and Ulama

3. Naturalenvironmentreferstoboth___and conditionsexistingonthe earth 1
a) Abioticand Bio b) Biotic andEcosystem
c) Bioticand Abiotic d) Ecosystem andAbiotic

4. Why we should protect the environment 1

a) Itisourbasic life support system

c)Mostofthehumanactivities protect the environment like deforestation
b) Many part of the environment are already secured by the excess use of resources
d) Itprovidesus human resources

5. Theearth'scrustisabout kmonthe continental massesandonly kmon 1
the ocean floors
a)40,15 b) 30,5
€)25,10 d) 35,5
6. Dalitisatermusedtoaddress 1
a) lower castes b) Upper castes
c¢) The Poor d) Middle castes
7. Which of the following is false regarding the Policy of Kerala government 1

towards health services
a) 50% of the entire state budget was given to the panchayats
b)Theworking of school and anganwadi waschecked
c) Watersupplyschemewere checked to ensure good health
d)Healthcarecentrewere improved

Section B
Discussthemajordevelopmentswhichtookplacebetween750CEsand1750 CE. 3
8. Give anaccount of various domains of the environment. 3
9.  What are minerals? How are they useful for mankind? 3
10. Mention two different kinds of inequalities that exist in our country. Give 3
examples.
11. What did the court say in the case of Hakim Sheik? 3
12. Mention some positive aspects of healthcare in India. 3
Section C
13. Describethe process of copyingthe manuscripts.Whatwere its drawbacks? 5
14. Discuss the various types of rocks in detail. 5

What are the provision made in the constitution for the recognition of equality? 5




ATOMIC ENERGY CENTRAL SCHOOL NO 4
PERIODIC TEST —I (2019-20)

TIME:1 h 30m CLASS: VI I, ENGLISH MAX MARKS:40
SECTION A: READING (10 marks)
A.1l. Read the given passage and answer the questions that follow: (5)

Soon the drum made of tamarind wood was ready. The courtiers assembled outside the
king’s door and the royal musician began to play. But instead of the thum thum thum that
everyone expected, the Tamarind drum intoned, “The raja has horns on his head. The raja
has horns on his head”. The court burst out laughing and the king cried with rage. “I won’t
stay in the palace a moment longer,” he shouted. “I’ll go to the forest and live by myself.”
He tore the nightcap off his head and ran out of the palace, seizing the Tamarind drum on his
way out. The king lived for several years in the forest. He gradually learnt about the beauty
of the world around him. He learnt to care for creatures smaller than himself. He grew
strong, wise and selfless. His only companion was the Tamarind drum, and the drum, when
he beat it, it gave him all the advice and experience of the old tree. He learnt to play it so
beautifully that even the spirits of the trees were charmed and they went to meet the God
who had given him the horns.

1. What was the drum made of?

2. What did the tamarind drum intone?

3. Why could not the king remain in the palace ?

4. How many years did the king live in the forest?

5. What kind of man did the king become after living in the forest?

A.2. Read the following poem carefully: (5)
Each One, Teach One

Each one, Teach one.
Let this be our slogan
Let us spread the light
Of learning, across the nation
The gift of knowledge, they say
It is loveliest gift of all.
Let us offer this gift
To those whose needs are small.
To those who never learnt
How to write or read
Instead of making noises
Let’s get on with the deed.
Let our country awaken
From the slumber of centuries
Let us make a pledge
To vanish illiteracy




Complete the sentences according to the poem. 5)
(@) The poet wants everyone to ---------- :

(b) Each one teach one should be our -------------- :

(c) We have to spread the light of ------------ across the nation.

(d) We have to take a pledge to vanish ----------- :

(e)  Slumber means

SECTION B :WRITING (10marks)
B.1. You are Rehmat/Ram of class VII. You lost your geometry box. Write a notice to be
put up on the school notice board, giving all the details and using not more than 50

words. (5)
B.2. Write a letter to your uncle inviting him to attend your birthday and telling

him about how you have planned to celebrate it. ( 5)

SECTION C: GRAMMAR (8marks)

C.1. Fillin the blanks with the appropriate forms of the word given in the bracket. (4)

a. He has ------------ to help me .Do you think he will remember his------
(promise)

d. It is not ---------- that ------------ should be the mother of invention. (necessary)

C.2. Rewrite the following pair of sentences as a single sentence. Use” if” at the beginning. (2
a. Be polite to people. They will be polite to you.
b. Do not tease the dog. It will bite you.

C.3. Write the meaning of the following words. (2)
a. pardon b. wounded
SECTION D: LITERATURE ( 12Marks)
D.1. Read the following extract and answer the questions that follow. (2)

He wore a question mark for tail

An overcoat of gray

He sat up straight to eat a nut

He liked to tease and play
a) How has the poet described the tail and the fur?
b) Who teases whom?

D.2. Answer any five. (10)
a) Why was the king advised to go to the magician?
b) How did the king and the hermit help the wounded man?
c) What was the noise that startled Mridu and frightened Mahendran?
d) What makes Mridu conclude that the beggar has no money to buy chappals?
e) What jobs are the new ants trained for?
f) In what ways is an ants life peaceful?
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